SPANISH VERB WORKBOOK

'XERCISE Set 8-1

A. Supply the missing imperfect indicative forms of the verb cantar, giving the English equivalent.

EXAMPLE: él .

él cantaba he was singing, he used to sing

I

Now, supply the missing imperfect indicative forms of the verb tener, giving the English equivalent.

1. (yo) =

2. (Rachel y yo

)

3. (Uds.) =

4, (ellos) =

5. [w(').’-;(_‘n‘_;ﬂf)_— =

6. (td) =

Now, supply the missing imperfect indicative forms of the verb decir (i, i), giving the English equiva-
lent.

1. (yo) =

2, () =

3. (nosotros) ___ =
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Now, supply the missing imperfect indicative forms of the verb ser, giving the English equivalent.

1L, 1. (y0) —— B - —

2. (i) = o

3. (nosotros) =

4. (ellos) =

5. (vosotros) ______ =

6. (Ud.) =

— Now, supply the missing imperfect indicative forms of the verb ir, giving the English equivalent.

& (o) = -

2. (m) = -

‘ 3. (nosotros) =

ivalent.

4. (ellos) =

5. (vosotros)

6. (Ud.) =

Now, supply the missing imperfect indicative forms of the verb ver, giving the English equivalent.

L (yo) — -

' 2. (td) =

3. (nosotros) =

sh equiva- 4. (ellos) =

5. (vosotros) =

6. (ud.) =

Now, supply the missing imperfect indicative forms of the verb levantarse, giving the English

— equivalent.
1. (yo) = _
2. (td) - o -

3. (nosotros) ________ =

—
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1, (ellos) =

. (vosotros) =

1%

6. (Ud.) ) -
B. How do you say the following sentences in Spanish?

1. 1used to live in Quito.

7. They wanted to see the latest movie.

8. 1liked to read the books of Jorge lcaza'.




